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1)
Calculate the result.
a) 3817 — 17 = 3800 b) 7832 — 21 = 7811 c) 9012 — 4 = 9008
d) 6654 — 16 = 6638 e) 6201 — 1 = 6200 f) 3576 — 72 = 3504
g) 4092 — 78 = 4014 h) 6118 — 15 = 6103
2)
Calculate the result.
a) 92 —7 =285 b) 84 — 3 =81 c)25—2=23
d) 62 —7 =255 e) 44 —4 =40 f) 68 — 8 =60
3)
Calculate the result.
a) 789 — 4 = 785 b) 524 — 4 = 520 c) 441 — 1 = 440
d) 494 — 3 = 491 e) 433 — 2 =431 f) 428 — 3 =425
g) 567 — 2 = 565 h) 752 —1 =751
4)
Calculate the result.
a) 3602 — 1 = 3601 b) 5735 — 3 = 5732 c) 4635 — 31 = 4604
d) 7419 — 12 = 7407 e) 6673 — 43 = 6630 f) 8091 — 41 = 8050
g) 8807 — 1 = 8806 h) 8396 — 31 = 8365
Good Luck!
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